AP E A A

20234 E =0lek Leis DEWHD
SM: DEBHD
M NS (nELSTR/UENE - EFSIIE
Ciel: DEWF (Crol: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
IME==LPSin); 28,696, 155 21,304,387 7,391,768
= 1,763,400
s 293,616
& 881,793
Al 25,109,346
= 648,000
wEH(RNSLER/HELS - ERSIIE 21,808, 185 15, 186,604 6,621,581
= 1,763,400
= 293,616
& 881,793
Al 18,221,376
= 648,000
ME==LPS) 3,496,829 3,061,256 435,573
= 83,400
s 243,000
& 40,110
Al 2,482,319
= 648,000
nEYet 1,986,029 1,745,156 240,873
201 LBt 9,460 6,230 3,230
01 AlS2eldl 9,460 6,230 3,230
OuUSCHMN MRS Fa 5
70,0002 +8Z*13] 560
OmsehEsIas B 28
70,0002 +6H*13] 420
OHA LIRS B4 Lgt
70,0008 72 *23) 980
OuSetl EE2= M 5,900
—nE 2H EES UM
500 +7,0000H 3,500
~DE 2 29 B4 AR
60,0002 *403] 2,400
OO0 U BI2XSTI2 SIS, A S oI
5002 *1,60001%25 1,600
207 AN 75,000 54,000 21,000
01 HA1=<4d| 75,000 54,000 21,000
OZ=Al HELE ¢ 88 T ARz
40,000, 0002 14 40,000
OAIUHA 223 HZAN 2 230 &4E 2249
19,000,000& 14! 19,000
O8lled NEEETAL 29
16,000,000 14! 16,000
301 LetEE= 164,000 99,750 64,250
11 HARHIXIRS 12,000 0 12,000




2N DEHFD
M DEA(NSULSH/UELS - 2RSIIEN
Chel: NS (Crel:M2l)
S - B - ORI(3]H) - HISAR - BaS Ol kot ] HIDE2
OREI2SZAK NEMXK A5t
800,00024%15% 12,000
14081242 152,000 99,750 52,250
OLELHEIZ0| 2
40,00024x20Z* 190 152,000
307 2IZt0IA 1,737,569 1,585,176 152,393
02 QIZFAAIAIRIE X 33,420 26,600 6,820
OFXEAN It=2 HCEE XA(EES 80%)
4,275,00094%141%80/ 100 3,420
OWXNESS Ha U NSEA &2 XA
(BXg HY) 22,000,000 14] 22,000
O0EI0] Sotn DEXNE L HEES XA
(BX8 HY) 3,000,000 14! 3,000
OLEHH ARIZEDUS| XA (BES 80%)
6,250, 00094%1x80/ 100 5,000
05 gI2telEr2 531,743 392,000 139,743
OSHUSHC QI2tQE 29|
531,743,000 % 14! 531,743
09 24AHEZx2 1,172,406 1,166,576 5,830
OHA, EIAl 0|2 LFAIEHE EZ(BES FH)
569, 170
—HMHA E2H|
100,000 +65CH 122 78,000
—TMIHA B
300,00021+65CH+13] 19,500
—SAl S 80,0002 *467CH* 122 448,320
—EiAl T 50,0008 +467 CH13] 23,380
OuUSIIE 29 XY (2XS8 HA) 440,720
—NEIICAIR oI X
1002%1,800,000% 180,000
—NEJE ABELE X
2,000,000,00094%15/1,000 30,000
—nEJiE P2Es 1
1,40024%130, 000 182,000
—NEJIE S| RRILLH|
70,0009 5801 * 122 48,720
OZAl IIEZAD| S 29 X 162,516
—IIEZRD| S SUARE
11,00094 %467 T+ 127 61,644
—IIEZRD| AIBL2B
18,0002 *467CH* 122 100,872
(2) 22 XA 300,000 243,000 57,000
z 113,000
Al 113,000
= 74,000
301 LBHERS 300,000 243,000 57,000
z 113,000




SN DEBID
o DEVL|(DSYLSH/UELS - 2RSIIE
ce wsEd (Crel:mel)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
A 113,000
= 74,000
PSS 300,000 243,000 57,000
OBZHUA NHAIY(H2EUAl 2 24)
300,000,000 * 14! 300,000
z 113,000
Al 113,000
= 74,000
(2)SZEH2: NEAY 400,000 300,000 100,000
= 130,000
Al 270,000
307 SI2F0IA 400,000 300,000 100,000
7 130,000
Al 270,000
09 2XLHEES 400,000 300,000 100,000
O=BEHA X 400,000,0002 %141 400,000
= 130,000
Al 270,000
>0SEE Uzus AN2g 7= 2 23 3,600 3,600
308 XSSO0 3,600 3,600
TEFEENEE N E=E N 3,600 3,600 0
OBTHEUA SSBIANALY KX el
3,600, 0002414} 3,600
(ZVFALEWSIIE o OrelN Aa 4,200 2,000 2,200
= 2,100
Al 2,100
308 AIXISHISO0IA 4,200 2,000 2,200
= 2,100
Al 2,100
11 S 2SOHEZ A=A A 4,200 2,000 2,200
OYENSIIE X DIL2IX X
4,200,00024%14] 4,200
= 2,100
Al 2,100
(2)S2RS 7Y 96,000 0 96,000
= 48,000
< 14,400
Al 33,600
405 THAHEISH] 96,000 0 96,000
= 48,000
= 14,400
Al 33,600
01 AL SEFSH| 96,000 0 96,000




SA: DEHED
Ho: DEU(NSYSFH/UZLS - SRSIIE
S wWSsd (Ctel ®el)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
Osgus+e 1y e
48,000, 0002 2CH 96,000
= 48,000
T 14,400
Al 33,600
() DB RSB AR IMIE S 22,000 15,000 7,000
[ 6,600
Al 15,400
301 YEIEFZ 22,000 15,000 7,000
S 6,600
Al 15,400
14 JEIEa2 22,000 15,000 7,000
ONZNSHLEI AR OIMIEI S
22,000,000 *14! 22,000
[ 6,600
Al 15,400
(2) DZ ST A AN LA 20,000 0 20,000
= 6,000
Al 14,000
301 LErEN g 20,000 0 20,000
= 6,000
Al 14,000
PIEErSE 20,000 0 20,000
ODZR 2L X&pHd B
20,000, 00024+ 14} 20,000
= 6,000
Al 14,000
(2) ARSI AR 665,000 752,500 87,500
= 27,300
[ 19,110
Al 44,590
= 574,000
301 YErEAZ 665,000 752,500 287,500
= 27,300
[ 19,110
Al 44,590
= 574,000
IPIEErSE 665,000 752,500 287,500
OSIAIZ X B AR R AL
665,000,0002 %141 665,000
= 27,300
[ 19,110
Al 44,590
= 574,000




2A: WEH™
MM DEUU(NSLER/UELE - 27SIIEY)
el 2EAEY 2l (EERSED)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
2SAY 22 11,525,518 10,377,246 1,148,272
= 50,616
[ 183,683
Al 11,291,219
2507 29X 5,488,698 5,108,604 380,004
307 2I2I01A 5,488,698 5,108,604 380,004
09 S4HEE2 5,488,698 5,108,604 380,004
O22AT SIBX2(BXE HOH) 5,488,698
e 380.0924*1,500,000 £ 570,135
—EHAl 197.9724%3,900, 000 £ 772,083
—sk= 345.5421%12,000, 000 £ 4,146,480
HIZol Ceze] 5,250,000 4,250,000 1,000,000
307 2I2H0IA 5,250,000 4,250,000 1,000,000
09 24AHEES 5,250,000 4,250,000 1,000,000
OSHEHA HiZALM BEEX
5,000,000,00024%1A! 5,000,000
OHA SHAQIHY Al (12 Bee=x
250,000,0002* 14! 250,000
(D AUHLSHEHASSAILTHE XA 311,032 328,032 A17,000
[ 155,516
Al 155,516
307 2I2I0IA 311,032 328,032 A17,000
[ 155,516
Al 155,516
09 24AAHEES 311,032 328,032 A17.,000
OAlU £ SHEHA HE L ZeXd
311,032,000 x 14! 311,032
[ 155,516
Al 155,516
HARBAAESA 244,465 220,094 24,371
201 LB 3.283 3,288 0
02 2229 3,288 3,288 0
OHARBOHHD|(BIT) HIIR2
274,00024% 122 3,288
308 XX SHHIS0I A 116,177 106,806 9,371
11 2 2SI HEZ AR E AR 116,177 106,806 9,371
OBIAFBAIAL(BIS) RXIE2H]
116,177,000 %14l 116,177
403 REXISHHIS =01 A 125,000 110,000 15,000
02 2SN UE A =R AR 125,000 110,000 15,000
OHAZZOHYI|(BIT) &X At
12,500,000 % 1074 A 125,000
()AL S01= HIA CHEIXIAI 15,000 60,000 45,000
[ 2,640




SN DSHID
¥ nSAe/(NSYLEF/USLS - 2[/SIIEY
el 2EAY 22 (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Al 12,360
307 212+01 15,000 60,000 /45,000
= 2,640
Al 12,360
09 SFYAHEES 15,000 60,000 /45,000
OAlUsHEHA HEHIXH X2
15,000,000%*1CH 15,000
= 2,640
Al 12,360
SAISHE22CANAY 29 6,442 6,505 NB3
308 MAIHHSOIA 6,442 6,505 A63
11 SIS0 e A 2AEAIHY| 6,442 6,505 63
OHASBHBRIAAL 29 Al XIg
6,442,000 % 14! 6,442
()gEx=d X2 168,721 175,011 26,290
s 50,616
= 13, 151
Al 104,954
307 212+01d 168,721 175,011 26,290
s 50,616
= 13,151
Al 104,954
09 2=gAHEX= 168,721 175,011 6,290
(G- N 168,721,000 %14l 168,721
s 50,616
= 13, 151
Al 104,954
(&) A SKE DI S EZ NS A 33,240 0 33,240
< 10,000
Al 23,240
307 212+01d 33,240 0 33,240
= 10,000
Al 23,240
09 2FYHEE= 33,240 0 33,240
ONATSIEIDIE SFMEAS
33,240,000 * 14! 33,240
& 10,000
Al 23,240
(Z)ENHAXZ0IEZ DEXISXI X 7,920 0 7,920
= 2,376
Al 5,544
307 212+01d 7,920 0 7,920
= 2,376




2A: WEH™
M NEAU(NSLESZ/UELE - 28SIIEY
CHe: 2EAY 22 (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Al 5,544
09 24UHEXZ 7,920 0 7.920
OFAHA 2012 BDEX| LR X
7,920,0002 % 14! 7,920
< 2,376
Al 5,544
WEAE SAFH 6,764,470 1,726,854 5,037,616
= 1,680,000
[ 658,000
Al 4,426,470
WEAES 22 2,899, 140 1,161,270 1,737,870
201 LEt2FH 206,290 130,270 76,020
01 AF22t2IHI 1,000 11,000 10,000
OLECHHAILE X AQIEE (84, E28)
50,000 %203 1,000
02 2224 205,290 119,270 86,020
ONEAEE ®)| Y S4MR2 161,040
—sE &JIe=S 7,500,000 %12 90,000
—ADIESISEE, SUR MIIQ2
4,600,000 %122 55,200
—ADIEZOUEE AT 402
1,320,0002* 122 15,840
ORIttt |22l 44,250
—HIIAAMEI(AS, D)
2,000,000 *5CH 10,000
—®D|ZAHI(2) 1,300, 0002 *20CH 26,000
-tz 27,5002 #2501+ 1200 8,250
206 M=l 33,500 33,500
01 M2HI 33,500 0 33,500
OLEAD MY EL2SE HNIZ 33,500
—oruR 30,0002 %350H 10,500
— O 10,0004 %250 7H 2,500
— X oS 4,00024%500 4 2,000
N 2,0002*1,0007H 2,000
—OFZXIZO| 10.,00024*8007H 8,000
— Y 15,0002 %300H 4,500
—gERN 10,0002 *250H 2,500
—OFRZEA 6,0002 %250 K 1,500
401 A& HIL 20| 2,659,350 1,031,000 1,628,350
01 Al&H] 2,654,350 1,026,000 1,628,350
ORIV IPNISPIIESINISES
800,0002!* 1207 A 96,000
O FEE SN24
550,000 % 117914 64,350




SA: DEBFHD
M NSHAU(NSYER/NENE - SFSIIEY
&2l WEAIE 3| (Cte]: X<
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
O WEHNEXT KL
30,000:24%3, 50004 105,000
OKISHMO0ID| WAl 10,000,000 %54 A 50,000
O3] B 400,0002 %154 A 6,000
O3 4l3)| 2= nH
90,000,000 %2IH A 180,000
OL-HEAl HEA Hy| 1,010,000
=EINPIN 340,000
S 30% 4,00024%30,000m 120,000
- HICIE 70% 2,0002%110,000m 220,000
—ZJ|AIDHX 100,000
& 30% 4,00021%10,000m 40,000
- HIQIE 70% 2,00021*30,000m 60,000
—g= g2 120,000
S= 30k 4,00094%20,000m 80,000
- HIRIE 70% 2,000@1%20,000m 40,000
—LHEAl 21324 50,000
SHEAl RIA(RD))
10,0002%3,000m 30,000
HeE 2,00021%10,000m 20,000
-3 2 ANE, SEE2 400,000
HeE 2,000:2%200,000m 400,000
ONSOHFEXT S L il
4,000,00021%507H A 200,000
O-ZNEEXE DA 55,000
—les 2,000,000& %2070 2 40,000
—3FM S 100,00024* 1507H 2 15,000
ODNFAl ROIEC ch JH| &X|
50,000,000 x2IH A 100,000
OZgs S dd 2w
1,000, 000942004 2 20,000
OHIEIZS &X 80,000,000 %374 A 240,000
OF28 g4 &1
10,000,000 % 10IH A 100,000
OZF28 AULZ(LIRLS) AXIAlY
(FLUEO0IAH 48,000, 0002 * 14! 48,000
OoYgtsax|I210 &
20,000,000 %2IH A 40,000
ONSEALALDXIE AL A
10,000,000 % 10IH A 100,000
OZBUFHXISXI72H A
500,000 *2007H A 100,000
O s2& 43X & o™ 100,000
—CAIE HASAE
10,000,000 %54 A 50,000




2A: WEH™
MM NSAL(NSLSH/UELS - 2[/SIIE)
oel: WEAE SFEH (CHl: X 21)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
—=Z8 HASYH
10,000,000 %570 A 50,000
OS2 HXE L AlZ2 FH|
1,000,000 *407H A 40,000
03 AlZ=THHI 5,000 5,000 0
OUSHAALEES S &X| L SXLS
5,000,000 x 14! 5,000
WEXA & 225,330 235,584 10,254
101 Q124H 93,966 89,564 4,402
M IIIR22ISEES 93,966 89,564 4,402
O2% = M o018 92,046
—oI=g 76,9602 x4 2240 73,882
—TR+d 76,9602 +4 2 »48F 14,777
—Xe 76,9602 x4+ 118 3,387
O=2Y = - HXt c= 218 TI=HI(D124H) 1,920
-5 150,000 *4 % x 1 & 600
—ot= 100,000 *4 %1% 400
—QrM S} 100,000+ 42 %25} 800
—2X 30,0002 %4 %1% 120
201 L2 112,864 107,020 5,844
01 AF222IHI 14,903 15,983 1,080
O2Y = - HX} o= KA oIy 5,390
—HEEN 130=%3, 0000H 390
—2[EtALA SXIA 10024 %10, 0000H 1,000
—ANESXIA 10024 %10, 0000H 1,000
—=20IXA 1002+ 10, 0000H 1,000
—SE(HE) XA 100=%10, 0000H 1,000
—U=SXA 10024%5,0000H 500
—HE2 SEHE 1002%5, 0000H 500
O2Y = - HX o= 28 IISH(ERE) 3,120
-s= 150, 0008 <62 *1 2t 900
—ot= 100,000 *6 *12¢ 600
— oA 3t 100, 0002 *6 % x2%¢ 1,200
—<2 20,0002 x6 2+ 240
—2% 30,0002 612 180
ONEEAN HE 5,500
—&i40t 60,0002 * 107453 3,000
—TI2 2 o 5,000 *200H 1,000
—= - HX3X EE Mo
10024 %3Z+5, 0000H 1,500
O2Y = - HXt o018 bth2H|(FFS
HEZFRH) 893
—QHES 7Y 10,0002%35+ 128 360




2A: nsSsd
M NS (nELSTR/UENE - EFSIIE
el WSAIE B33 (EERSED)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
—HLES 7Y 10,0003 *35+12& 360
— MY ISE(B0L) 7202A*00Ek+ 122 173
02 3323l 97,961 91,037 6,924
O=Y = - X RRUCSAIAZ(CCTY) ®II22
20,000&*27CH*12& 6,480
O=Y F - X ROUHZAIAEI(CCTV) SAAIEE
100,000 4%27CH+ 122 32,400
O=Y = Xt o= 98 AAH SHH &
SEANES 3,120
—Z24dH AMSE 110,000 %12 1,320
—SAANEZ 150,000 * 122 1,800
O=Y = dX Rt Jiidt RXEx 40,908
—NFA! CCTV 97,000 +27 [+ 12 31,428
—0ls4! CCTV 395,000 *20}* 122! 9,480
ORI xt2e| AT R
330 00024*128 3,960
OSYFEX HSLSAAE X2
570,000%*12% 6,840
O=Y = FXUHE L PR X2 24
DN SERIZ 4,253
—28 g¢&R=s 40024%380 21+ 122 1,824
-S| 853
2,5303*802H*12& 2,429
401 AIEHIZL20HY| 5,000 39,000 A34,000
01 Al&HI 5,000 39,000 A34,000
O2Y = AXNSXEXIE &X|
5,000,000 % 14! 5,000
405 THAEE SHI 13,500 13,500
1 ML EEF S| 13,500 13,500
O=Y = X &4=5018 S22t =4 2,500
—&II2+0] 2L 500, 0002 %1 Al 500
—EolAl THElE 2
1,000,000 *14] 1,000
—AI30 ¢ 1,000,000 *14! 1,000
OSAIE SXZSIAIAE A W
11,000,000 *14] 11,000
(Z)UEI0I2S 7Y JNEAIE (HEHALRT) 300,000 0 300,000
== 150,000
Al 150,000
401 AIEHIZ20HY| 300,000 0 300,000
& 150,000
Al 150,000
01 Al&H| 300,000 0 300,000
O0RI0IES R INE AL
300,000, 000&*14] 300,000




SM DEBHD
M NSA(NSLER/UEUE - SRSIIEN
o2l WESAlE 22 EH| CEEEED
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
& 150,000
Al 150,000
(2)=0I85 2 I AS (HEAIY) 50,000 0 50,000
& 25,000
Al 25,000
401 AIEHIZL 2 CHYE] 50,000 0 50,000
= 25,000
Al 25,000
01 Al&HI 50,000 0 50,000
LOIESAAINLAIS
50,000,000 14! 50,000
& 25,000
Al 25,000
(Z)NSOHNMAIEESAIY 490,000 330,000 160,000
= 147,000
Al 343,000
401 AIEBIZL 20| 490,000 330,000 160,000
& 147,000
Al 343,000
01 Al&HI 490,000 330,000 160,000
O=28 a2k 4
8,000,000&* 1270 2 96,000
< 28,800
Al 67,200
otted 2ddlss X
17,500, 0003 44 2 70,000
& 21,000
Al 49,000
ORolck=(1t & AlS)ItHet &I
40,000,000 *2IH A 80,000
& 24,000
Al 56,000
OSSEE WHA 81
120,000 *800m 96,000
& 28,800
Al 67,200
OusalsI| wHl &l
70,000,000 *2JH A 140,000
& 42,000
Al 98,000
Ogetdls)| EX
1,600, 000& #5002 8,000
& 2,400
Al 5,600
(X SEREMA(ITS) 2SAL 2,800,000 0 2,800,000




2A: WEH™
M NEAU(NSLESZ/UELE - 28SIIEY
©2l: nSAld SHE3JH| (chel: & 2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
= 1,680,000
[ 336,000
Al 784,000
401 NS 220 2,800,000 0 2,800,000
= 1,680,000
[ 336,000
Al 784,000
01 Al&H] 2,800,000 0 2,800,000
OXSERSHA(ITS) PSA
2,800,000, 0002414l 2,800,000
= 1,680,000
[ 336,000
Al 784,000
HHSE22) 21,368 21,248 120
AL A2 21,368 21,248 120
201 L2 S 21,368 21,248 120
01 AlR2t2|H 10,480 10,360 120
OAUE QIRANAL Q1Y 7,600
—NEHEE 23 A4
80RI*35+7,0000H 1,680
—RFEXEDIZAL A4l
802127, 0000H 1,120
— R SIHHALE Al
80RI*2ZE+7,0000H 1,120
—NEXSS2E DEHE2D A
80 *10&+1,50004 1,200
—ALIIHSE 2 AHA
80RI*9ZE+1,5000H 1,080
—ASI|HESA HE S
2,0002*7000H 1,400
OXUSEET J|28H ARREY| 2,880
—=2A8X 2 20,0002 %22 A% 122 480
—HZ2IH EL(SY)
200,000253]*1CH 1,000
—D2IH EU(ZEH)
200,000 53] *1CH 1,000
— 201238 22/
200,0002* 1CH#23] 400
02 2229 10,888 10,888 0
oRERS 7,288
—LRDXA 2 6E SIRERS
303,600 %12 3,644
—S)|9H BrEe= 303,6002!* 122 3,644
OREE2HMNEX ARASIZT2IH K| H 2|
300,000 %12 3,600
HYSHAY|(NSSHH W) (JIEHIIE) 157,970 154,783 3,187




2N DEHND
HE: MY 2HAH|(LSHF D) (IIEHIIE
Chel: ol (Crol: el
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
SIEETN] 45,850 45,063 787
REEET] 45,850 45,063 787
101 Q12| 45,850 45,063 787
038 2R (A 22X 2+ 45,850 45,063 787
Og8 = X} oz AREX 45,850
—Jlz=2 2,371,960+ 1Z*128 28,464
— YA SO 2,371,960 21%75%+ 124 %23] 3,558
== 2,371,960 2 %500+ 12*25] 2,312
—JiEay 1,440
- B X 40,0002 * 112 480
S RHA 20,0002 *12* 122 240
=) (DE 60,0002 %1 2* 122 720
— ARty
14,8622 % 150%*20 Al 2H+1 2% 122 5,351
—RSEISY
119,000 %115 1,785
—HAZAH| 140, 00084 12» 128 1,680
—WESEXH| 100,000 %1 H* 122 1,200
PIEEL] 112,120 109,720 2,400
PIEEL] 112,120 109,720 2,400
201 LBr22y| 27,520 25,120 2,400
01 AFR2r2l] 27,520 25,120 2,400
O=AEX ¢ 20, 00021%20 2t Ax 122 4,800
OS2014lb] 8,000 *6Ax20 T x 122 11,520
Ogttez 100,000 %122 1,200
OAAR SARLH| 50,0002 122 600
OARD 24| 8,200
—=AD| 22 1,000,00021+1CH 1,000
—ZRIED| el 100, 0002 *4TH*50% 200
—=2AD| El 200,000 %53 *1CH 1,000
—ZR2IED|(&Y) €4
200,000 %53 *4TH 4,000
—Z2IED|(Z) 4
200,000 %53 *1H 1,000
—PC =2l 100, 0002 %20 CH*20% 400
—JIEt==2IH] 50,00094% 122 600
OJIEL AFR2t2|H] 5,0002*20% %12 1,200
202 04t 79,200 79,200 0
01 =00l 79,200 79,200 0
(OF(8,[¢:]:] 20,0002+20%* 122 x 122 57,600
O=2| 04| 90,0002 %208 x 12 21,600
203 LRE=ZY| 4,200 4,200 0
04 EASHADFTIH| 4,200 4,200




SA DEHF
M HNSHAH(DEAFD)(IIEHIIE
S JI=3d| (Ctel:ze)
- _ AE]
2A - BHH . O9(3) - NBAR - BLS oflAroy e Hm=2
SENEEEEES 350,000 % 122 7,200
204 A2LEAY| 1,200 1,200 0
IEEEEEESEL] 1,200 1,200
OXNMZHLAHAY| (DS DE)
100,000 *1&* 122 1,200
WEEHE(NE2E ) (NELSE/UELNE - 2250/E) 6,730,000 5,963,000 767,000
FENEWE 6,730,000 5,963,000 767,000
FENETE 6,730,000 5,963,000 767,000
701 DI HERES 6,730,000 5,963,000 767,000
01 JIEFRIHEERS 6,730,000 5,963,000 767,000
OFMESHS|H HE2 6,730,000
—ALSAONIE 212 DUFINE X4
1,700,000, 0002 * 14! 1,700,000
—SIXOHIE 912 BEFXE XA
800,000,000+ 14! 800,000
—S22| TAFIE 2X0HY
60,000, 0002 * 14! 60,000
—SHE HHSTME 012 DEFIE =4
1,470,000,00021* 14! 1,470,000
—ITHIAIRIOI 2 AlHIREE 2,700,000
- O{RI0IHIDIRS L XIBIEXE S =AM
ZAEANS 1,300,000,0002 14! 1,300,000
AN FXEIY FAHAY
1,400,000, 0002 % 14! 1,400,000




